Y= a*r2x0+2

=-(x-1)%+3 & BEr (03D
71
fey T o977t xdbmicp. FdFlhc § FITHBLES 0y

= - (x-p-1N"+3+§ k&3

25Ash 1 f2) 0 EX LS

,-
/'] "y
. ] .
/ ) Pt1 €2 gy

|
¢ | 'y
/ : Coo P@D

) X=4 »®@ T
A= P+l
PrEts ER RE
. P4 13 5
%l]\"@b\ f"—)ﬂbz ')J'— 3| 5
3 E P+l &Y :ﬁ 2'2 j
9 -2
PRI aty 134 3
A » 208
(2) —2¢%x¢3 BRIt 2XFEN oL
(1+2)(2-3) <0 TH3nH
—X*+ X +b >0 eld
fo) = —XCs2(pr)x = (P+D*+ 344 VB3I
2(p+1) = | -Q
S P43+ s 6 Q@ P HEEREIW
QLY priz=w p5 p=l5 \’;7
@Y *%+3+%—=6é¢')

EVi
%:B*Zl- :@:/



0 T (Pesh) D (§0592), 2 TBR
o _ _ —. 7
(3 312 %2 ) = (P 2r=12 Pz)__l 0,

(2) 30w T » ARE ¢
Poit {2,3,5.7.11,13.17,19,23,29§
P21x  {1.,3,5,9.11,15,17,21,27,29]
5HT PPz 43.5,11,17,295
2 {4.9,14,19. 24,299

Ro1x 35.10,17,23,29§

T § e g1x {5,101,17,237

Wi < r(PMﬂ‘? P2) = (%-I.”W %a)_; N R#13 t @
4

Oz
et I KR
P ! 4
1 3 3

Yx 29 3
XX




Fa TP sy
AC®= 3%+52 2.3.5 4sl20"
= 9425 - 335 (-4)

= 34 +1|5
= 49 HT AC=[T
S A
. ERE)
AméABC’-T*
Eg& g‘z*‘) 7 = 3 = l,
Aw B C
'4CA=-L' =BE=3I§7‘T
7 33 | 7
= 3 wD = :—2_.. J/3 =
4D 4 C R 7'5"%
HT D=3

CAPC =0 LT3t  AAPCoHSFEMaIRR |2

2R = _.7_. <h

Ava @
7 .
R = 253
28
32" 30°S 6 2120 &Y
'!i S Anb s L5 lg-—;L— T2 1216
A O
2 <« 7 WA
= =73 S2:5 ¥

MALS Fd BRI
A 7 3
n¥ 32 3
Ryay 3314 3
S A 72 3
y s 7 3

15&




ny | Jof{n 20] |21 30\ [31 40)

F3mMER 1T NevwF o 3048 v 3ILH o 5] cT3a7"

J@.-?Sm Wt 30m B 1cX3
=

(2) F3wAERN 25~30 o] &9 O @ 0‘@
F1 a1t ®Rt 15~20 a3y Qo @
g-1 ﬁ’% 349 1& @/:' @

4 % 2 X

(3) A-a . ‘*l DAEIEEIN LT W3 T z’fﬁ

C-¢ WREN FH51030TFH
51 ABTELarn @J@
y %

(2] " (FE4HB)
(0B c2@8 o RERZBETR )
_ 54.30 2.2
8,2 x 6,98 : 6.3¢
\ 6568
= 0,947 7889
4926
T l@ o.qsl ' AR NS S
V.
0,947
: 57,31 5;_4.339
— /
M’E% ‘EM bttﬁ\ l?g—lq-
2292
T 4 3 42 56
(oLt pa3s 4 |
h+ 02 6
) 7 2

15 &,




D) { T1]
WIIAEIR 3RY Y 288 5513 T Ee & wusto 289958305

3x2x2x2x2 = @ L))
71

(2) iz 38Y, 3422 9.8y, 21X 2BY . £»b 4 5%812
23N E2S 2. | BB IC T B TrRet

1 . miEiet EM &

Fv2x2 ,[_B.__ (By) 71 48 3

33 vz 12 2

‘ i 2 3

3) —& 513 2By T A 1RITIL0\GFua " [y ¢ 3
% 2% lz 2

ay 16 2

LR 26 3
20,8,

("] TR IR 3% Hvdzcax Rihe T TH
o5 28 BB 12 ThIRh 2BYTHHA9T 22 = 4]
n

4)

) Fa 1ot

&

Lz Y o HB 2897 3~5%81 [BYT>

HT1 28y
P 2L B DI A LYY PN R FETR

[y
¥

3% ok o T 3o Ik
Fo@eion Thih 28 T>5Y

Foshire JBEOT s i)
2%
£57 Hn 1TXThda X Ry
oY
©  devadatd .-
I TLIRl —-- 2%8 0 287a%
RIIED - 2%8 249, s&B2AYy 3t 489

skg 22y, +ke28y edY
13 5 Teh 28Y 3T 23-8 (&)

| §8.4%B 28,7> 3T 48y
2.4 %0 2893 It hBy

—o——

e AL }_3—_6_]_@9

- R

ke
)
(7




P

1 % :
() 786 = 2@351,:[:7_[ THarnb Io ke BENT
Ix4x 2 = 24 ) BJ{E]

¥
{Qm = ,/22133"7'”\.
= 2*3J3v7rm ey Jam N DEE U3

-ﬁ'l"’ m 1T m= 3«7 :@
n¥

[am = 6/2_|m E#ﬁt’dﬁ@‘: m=21k*
2ne3 Jam = 6[a1x21k" = px2l R =120k cud

vE 2=]
B) l206k-112=1 —@ r¥< 126= 11N+ 5 ¢ &= (26-11211 -@
2-999 P BFR3X () &9 11=85x2 4] &9 )= 1] -522 -®
l26<(-2) =1 ]x(-23)=]| -@ @E@1=(VALT o) - (26 ~1Ix11)<2 &y
e Tanb | = 11~ 2%12b+22x1]
D-@ ¢V [ = -2x126 + 23 %I
124 Cht2) — 1) (2+23) =0 tcad | Q=126,8=1 eTBE
o =126 65
126 (k+2) = 11 (g+23) BVemED 4= 11 —®
@—@_’i’ a-1n4 <5-0

(26 £ (11T Swiz B Enb g

k12 = lim (nit BE) pUyr 0t
423 =126m

2) 256
2)378

3) 63
3,21

(RiEB®ER) tay

-®x«2 20 +238 = |

I 126%(-2) -1)x(-23) = |-@

{ ke=tln-2 v
£ = j26m ~23
%>0 L3 BB a5, JniEilveledaid

n=) o2 THY . okl
h=11-2 =E) , L=12bv]-23 =[103] &3
-’»

e

@ fom e Thde | @D Bt o2,

(@) fom =126k et ¥3a
126k = |1 R+1 &Y
l26k — 114 =1 .

S )o@ EHEToT k=lln-2 (mix &) £ %385

fom =126k =126 (nn=2) 2y

R=97 mFALENS w21k 3y m=20x9*
=120 eisd
VAL &/

YAt
s Tay el
Pey 237 3
A 2¢ >
¥ 21 3
Hra 126 3
Yy ¢ 2
i2e 103 2
y94y 170) ‘l‘__‘
20,8
129
x 9
1701



2A3a 2P sy

CE-¢cB=Ac -bC
=5.2 =]i0] THh3»y

_ P4
(BE+I5) - [5 =10 &9
J5BE + 5=10

‘ -
£ BE = - 5 »

AD PE BC ! 5
R S B DP |3 ¥
3 PE 1 | €Y £p S5, O

APBC € AEDC T ZCAB=<CED , 2CEDey.
AABCAAEDC Th3ns
DE:DC = AB:!BC &Y
DEtz = 5:[F &S

ba
O@05 gp= Fpe | ZBTE oy
At i &eE
P4 1o 3
v 53
AR 103 3
9 35 4
b2 25 4
iz 554 3






